2\ ®
%v

Mirka® LEROS(-S)

950

@«

v 930V



Exploded view

LEROS 950CV
Handle

Mirka® LEROS(-S) &950 3



4 Mirka® LEROS(-S) & 950



Exploded view

LEROS 950CV
Grinding head

Mirka® LEROS(-S) &950 5



6 Mirka® LEROS(-S) & 950



Parts list - LEROS 950CV Kkits

Mirka code Item Description
MIW9520111 Type Label kit 220-240V EU A
1 Type Label 5
MIW9521011 Handle Screw kit B
10 Screw STP 2,5 x 16 mm 7 0,8 Nm/0,6 ft-lb
12 Screw 2,5 x 25 mm 1 0,8 Nm/0,6 ft-Ib
19 Screw STP 3 x 16 mm 9 1,4 Nm/1,0 ft-lb
20 Rubber Washer 10 x 21 x 1,5 mm 2
MIW9521111 PCB Spacer kit C
11 PCB Spacer 8
MIW9521211 PCB Screw kit D
12 Screw 2,5 x 25 mm 8 0,5 Nm/0,4 ft-lb
MIW9521511 Power Socket Assembly kit E
15 Power Socket Assembly 1
26 Grounding Screw 1 0,8 Nm/0,6 ft-Ib
27 Star Washer M3 1
MIW9521811 Screw kit Y-Branch F
18 Screw 3 x 14 mm 6 0,8 Nm/0,6 ft-Ib
MIW9522511 Dust Hose kit G
25 Dust Hose 2
MIW9523311 Screw kit Fairing H
33 Screw STS 2,5 x 10 mm 12 0,8 Nm/0,6 ft-Ib
MIW9523211 Dynamic Weight kit |
32 Screw M5 x 10 mm 1 3 Nm/2,2 ft-Ib
34 Fan Washer M5 1
36 Dynamic Weight 1
MIW9523811 Screw kit Motor J
38 Lock Nut M3 4 1,4 Nm/1,0 ft-lb
41 Screw M3 x 12 mm 4
MIW9524011 Cover Cap kit K
40 Screw STS 2,5 x 8 mm T+/-8 2 0,8 Nm/0,6 ft-lb
45 Cover Cap 1
MIW9514711 Hole Screw kit L
47 Hole Screw 8 0,8 Nm/0,6 ft-Ib
MIW9524811 Joint Screw kit M
48 Screw Cap 2
50 O-Ring 7,65 x 1,78 mm 4
51 Joint Screw M5 x 8 mm 4 4 Nm/3 ft-Ib
MIW9515411 Joint Fork kit N
52 Screw M4 x 50 mm 2 1,4 Nm/1,0 ft-lb
53 Joint Fork 2
54 Lock Nut M4 2

NOTE! Repairs done by non-authorized repairer will breach the Mirka warranty.

Electrical tools must be serviced by a qualified repair person and in accordance with national requirements.

Mirka® LEROS(-S) &950 7



Parts list - LEROS 950CV spareparts & accessories

Mirka code Item Description
Type Label A 1

MIW9510211 2 Speed Controller * 1

*

MIW9510411 4 Button Plate 1

MIW9510511 5 Dust Guide 1

MIW9510611 6 Gap Filler 3 mm 1

MIW9510711 7 Pipe Sealing + 2 Foam Dampers 1

MIW9510811 8 Y-Branch Top 1

MIW9510911 9 Y-Branch Base 1
10 Screw STP 2,5 x 16 mm B 7 0,8 Nm/0,6 ft-Ib
11 PCB Spacer 8
12 Screw 2,5 x 25 mm BD 9

MIW9511311 13 Handle Left 1

MIW9511411 14 Nut M12 1
15 Power Socket Assembly E 1

MIW9511611 16 Hose Connector 1

MIW9511711 17 End Cap 1
18 Screw 3 x 14 mm F 6 0,8 Nm/0,6 ft-Ib
19 Screw STP 3 x 16 mm B 9 1,4 Nm/1,0 ft-lb
20 Rubber Washer 10 x 21 x 1,5 mm B 2

MIW9512111 21 Handle Right 1

MIE9016011 22 Rewireable Mains Cable 4,3m CE 230V EU 1

MIE9017011 22 Rewireable Mains Cable 4,3m CE 230V UK 1

MIE9017111 22 Rewireable Mains Cable 4,3m CE 230V CH 1

MIE9017511 22 Rewireable Mains Cable 4,3m CE 230V ANZ 1

MIE9017611 22 Rewireable Mains Cable 4,3m CE 230V ARG 1

MIE6517411 22 Rewireable Mains Cable 4,3 m 230V CN 1

MIW9512311 23 Tube 1

MIW9512411 24 Power and Signal Cable 1
25 Dust Hose G 2
26 Grounding Screw E 1 0,8 Nm/0,6 ft-lb
27 Star Washer M3 E 1

MIW9513011 30 Fan Cover 1

MIW9513111 31 Fairing Cover 1
32 Screw M5 x 10 mm | 1 3Nm/2,2 ft-Ib
33 Screw STS 2,5 x 10 mm H 12 0,8 Nm/0,6 ft-lb
34 Fan Washer M5 | 1

MIW9513511 35 Fan 1
36 Dynamic Weight 1

MIW9513711* 37 Motor Assembly 230V* 1
38 Lock Nut M3 J 4 1,4 Nm/1,0 ft-Ib

MIW9513911 39 Fairing 1
40 Screw STS 2,5 x 8 mm T+/-8 K 2 0,8 Nm/0,6 ft-Ib
41 Screw M3 x 12 mm J 4

MIW9514211 42 Brake Seal 1

8 Mirka® LEROS(-S) & 950



Mirka code Description it Quantity Tightening

torgue
MIW9514312 43 Backing Pad 225mm (Grip & Screw Mounting of 1
Interface)
MIW9514411 44 Pad Screw 1 10 Nm/7,4 ft-lb
45 Cover Cap K 1
MIW9514611 46 Interface 1
47 Hole Screw L 8 0,8 Nm/0,6 ft-lb
48 Screw Cap M 2
MIW9514911 49 Joint Ring 1
50 O-Ring 7,65 x 1,78 mm M 4
51 Joint Screw M5 x 8 mm M 4 4 Nm/3 ft-Ib
52 Screw M4 x 50 mm N 2 1,4 Nm/1,0 ft-lb
53 Joint Forks N 2
54 Lock Nut N 2
MIW9525711 57 Spindle + Bearing A bly 1

* Spare parts only available to authorized repairers.

Mirka® LEROS(-S) &950 9



Exploded view
LEROS-S 950CV

Handle

10 Mirka® LEROS(-S) & 950



Mirka® LEROS(-S) &950 11



Exploded view

LEROS-S 950CV
Grinding head

12 Mirka® LEROS(-S) & 950



Mirka® LEROS(-S) &950 13



Parts list - LEROS-S 950CV kits

Mirka code Item Description
Type Label kit 220-240V A
92 Type Label 5
MIW9521011 Handle Screw kit B
10 Screw STP 2,5 x 16 mm 7 0,8 Nm/0,6 ft-lb
12 Screw 2,5 x 25 mm 1 0,8 Nm/0,6 ft-Ib
19 Screw STP 3 x 16 mm 9 1,4 Nm/1,0 ft-lb
20 Rubber Washer 10 x 21 x 1,5 mm 2
MIW9521111 PCB Spacer kit C
11 PCB Spacer 8
MIW9521211 PCB Screw kit D
12 Screw 2,5 x 25 mm 8 0,5 Nm/0,4 ft-lb
MIW9521511 Power Socket Assembly kit E
93 Power Socket Assembly 1
26 Grounding Screw 1 0,8 Nm/0,6 ft-Ib
27 Star Washer M3 1
MIW9521811 Screw kit Y-Branch F
18 Screw 3 x 14 mm 6 0,8 Nm/0,6 ft-Ib
MIW9522511 Dust Hose kit G
25 Dust Hose 2
MIW9523311 Screw kit Fairing H
33 Screw STS 2,5 x 10 mm 12 0,8 Nm/0,6 ft-Ib
MIW9523211 Dynamic Weight kit |
32 Screw M5 x 10 mm 1 3 Nm/2,2 ft-Ib
34 Fan Washer M5 1
36 Dynamic Weight 1
MIW9523811 Screw kit Motor J
38 Lock Nut M3 4 1,4 Nm/1,0 ft-lb
41 Screw M3 x 12 mm 4
MIW9524011 Cover Cap kit K
40 Screw STS 2,5 x 8 mm T+/-8 2 0,8 Nm/0,6 ft-lb
45 Cover Cap 1
MIW9514711 Hole Screw kit L
47 Hole Screw 8 0,8 Nm/0,6 ft-Ib
MIW9524811 Joint Screw kit M
48 Screw Cap 2
50 O-Ring 7,65 x 1,78 mm 4
51 Joint Screw M5 x 8 mm 4 4 Nm/3 ft-Ib
MIW9525411 Joint Fork kit with Handle N
18 Screw 3 x 14 mm 2 0,8 Nm/0,6 ft-Ib
52 Screw M4 x 50 mm 2 1,4 Nm/1,0 ft-lb
54 Lock Nut M4 2
96 Joint Fork with Handle Right 1
97 Joint Fork with Handle Left 1

14 Mirka® LEROS(-S) & 950



NOTE! Repairs done by non-authorized repairer will breach the Mirka warranty.

Electrical tools must be serviced by a qualified repair person and in accordance with national requirements.

Mirka® LEROS(-S) & 950

15



Parts list - LEROS-S 950CV spareparts & accessories

Mirka code Item Description

MIW9510211 2 Speed Controller * 1

*

MIW9510411 4 Button Plate 1

MIW9510511 5 Dust Guide 1

MIW9510611 6 Gap Filler 3 mm 1

MIW9510711 7 Pipe Sealing + 2 Foam Dampers 1

MIW9510811 8 Y-Branch Top 1

MIW9510911 9 Y-Branch Base 1
10 Screw STP 2,5 x 16 mm B 7 0,8 Nm/0,6 ft-Ib
11 PCB Spacer 8
12 Screw 2,5 x 25 mm BD 9

MIW9511311 13 Handle Left 1

MIW9511411 14 Nut M12 1

MIW9511611 16 Hose Connector 1

MIW9511711 17 End Cap 1
18 Screw 3 x 14 mm FN 8 0,8 Nm/0,6 ft-Ib
19 Screw STP 3 x 16 mm B 9 1,4 Nm/1,0 ft-lb
20 Rubber Washer 10 x 21 x 1,5 mm B 2

MIW9512111 21 Handle Right 1

MIE9016011 22 Rewireable Mains Cable 4,3m CE 230V EU 1

MIE9017011 22 Rewireable Mains Cable 4,3m CE 230V UK 1

MIE9017111 22 Rewireable Mains Cable 4,3m CE 230V CH 1

MIE9017511 22 Rewireable Mains Cable 4,3m CE 230V ANZ 1

MIE9017611 22 Rewireable Mains Cable 4,3m CE 230V ARG 1

MIE9017411 22 Rewireable Mains Cable 4,3m 230V CN 1
25 Dust Hose G 2
26 Grounding Screw E 1 0,8 Nm/0,6 ft-Ib
27 Star Washer M3 E 1

MIW9513011 30 Fan Cover 1

MIW9513111 31 Fairing Cover 1
32 Screw M5 x 10 mm | 1 3 Nm/2,2 ft-lb
33 Screw STS 2,5 x 10 mm H 12 0,8 Nm/0,6 ft-Ib
34 Fan Washer M5 | 1

MIW9513511 35 Fan 1
36 Dynamic Weight 1

MIW9513711* 37 Motor Assembly 230V* 1
38 Lock Nut M3 J 4 1,4 Nm/1,0 ft-lb

MIW9513911 39 Fairing 1
40 Screw STS 2,5 x 8 mm T+/-8 K 2 0,8 Nm/0,6 ft-Ib
41 Screw M3 x 12 mm J 4

MIW9514211 42 Brake Seal 1

MIW9514312 43 Backing Pad 225mm (Grip & Screw Mounting of 1

Interface)

MIW9514411 44 Pad Screw 1 10 Nm/7,4 ft-lb

45 Cover Cap K 1

16 Mirka® LEROS(-S) &950



Mirka code Description it Quantity Tightening

torgue

MIW9514611 46 Interface 1
47 Hole Screw 8 0,8 Nm/0,6 ft-lb
48 Screw Cap M 2
MIW9514911 49 Joint Ring 1
50 O-Ring 7,65 x 1,78 mm M 4
51 Joint Screw M5 x 8 mm M 4 4 Nm/3 ft-Ib
52 Screw M4 x 50 mm N 2 1,4 Nm/1,0 ft-lb
54 Lock Nut N 2
MIW9525711 57 Spindle + Bearing assembly 1
92 Type Label A 1
93 Power Socket assembly E 1
MIW9519411 94 Tube (Short) 1
MIW9519511 95 Power and Signal Cable (Short) 1
96 Joint Fork with Handle, right N 1
97 Joint Fork with Handle, left N 1

* Spare parts only available to authorized repairers.

Mirka® LEROS(-S) &950 17



Figure 1

Gripping surface

Button plate \

Gripping surface = oovercord

Hose connection

Pad Medium Code
\ Break seal 225 mm (9") Grip MIW9514312

Backing pad

Figure 2

Multi purpose LED

On/off button

Speed indication (rpm)
0000000

O ® ® ® ®
QY QO° Q¥ Q° QO° Q° O
b 6P 6 62 A9 AP o

Speed -
Speed +

Start/ Stop

18 Mirka® LEROS(-S) & 950



en (original)

Declaration of conformity

Mirka Ltd, 66850 Jeppo, Finland

declare under our sole responsibility that the Mirka® products (listed below and see "Technical data" table for particular model) to which
this declaration relates are in conformity with the following standards or other normative documents: EN 62841-1:2015, EN 62841-2-4:2014,
EN 55014-1:2017, EN 55014-2:1997 + A1:2001 + A2:2008, EN 61000-3-2:2014, EN 61000-3-3:2013, EN 300 328 V2.2.2, EN 301 489-1 V2.1.1,
EN 301 489-17 V3.1.1, EN IEC 63000:2018 in accordance with regulations 2006/42/EC, 2014/53/EU, 2011/65/EU.

Products: Mirka® LEROS(-S) 950

Manufacturer/Supplier
Mirka Ltd
% 66850 Jeppo, Finland
Tel. +35820 760 2111
Jeppo 07.10.2021 MIRKA Fax +358 20 760 2290
Stefan Sjoberg, CEC www.mirka.com

Original instructions. We reserve the right to make changes to this manual without prior notice.

Important

Read these safety and operating instructions carefully before installing, operating or maintaining this tool. Keep these
instructions in a safe and accessible place. Read and comply with state and local regulations.

Required personal safety equipment

Read Wear Wear Wear Wear
operator's manual safety glasses ear protection safety gloves face mask

Symbols

Complies with EU relevant standards

Complies with China Rohs requirement

Complies with Australia & New Zealand RCM requirement

Complies with Eurasian conformity requirements

= b oA

Complies with Serbian conformity requirements

nos 21

Warning: Potential hazardous situation that may result in death or serious injury and/or property damage.
Caution: Potential hazardous situation that may result in minor or moderate injury and/or property damage.

58 Mirka® LEROS(-S) & 950



en (original)

A General Power Tool Safety Warnings

A\

WARNING Read all safety warnings and all instructions. Failure to follow the warnings and instructions may
result in electric shock, fire and/or serious injury.

Save all warnings and instructions for future reference. The term “power tool” in the warnings refers to your
mains-operated (corded) power tool or battery-operated (cordless) power tool.

1. Work area safety
a. Keep work area clean and well lit. Cluttered or dark areas invite accidents.
b. Do not operate power tools in explosive atmospheres, such as in the presence of flammable liquids,
gases or dust. Power tools create sparks which may ignite the dust or fumes.
[ Keep children and bystanders away while operating a power tool. Distractions can cause you to lose

control.

2. Electrical safety

a. Power tool plugs must match the outlet. Never modify the plug in any way. Do not use any adapter
plugs with earthed (grounded) power tools. Unmodified plugs and matching outlets will reduce risk of
electric shock.

b. Avoid body contact with earthed or grounded surfaces, such as pipes, radiators, ranges and
refrigerators. There is an increased risk of electric shock if your body is earthed or grounded.

[ Do not expose power tools to rain or wet conditions. Water entering a power tool will increase the risk
of electric shock.

d. Do not abuse the cord. Never use the cord for carrying, pulling or unplugging the power tool. Keep
cord away from heat, oil, sharp edges and moving parts. Damaged or entangled cords increase the risk
of electric shock.

e When operating a power tool outdoors, use an extension cord suitable for outdoor use. Use of a cord
suitable for outdoor use reduces the risk of electric shock.

f. If operating a power tool in a damp location is unavoidable, use a residual current device (RCD)
protected supply. Use of an RCD reduces the risk of electric shock.

3. Personal safety

a. Stay alert, watch what you are doing and use common sense when operating a power tool. Do not
use a power tool while you are tired or under the influence of drugs, alcohol or medication. Amoment
of inattention while operating power tools may result in serious personal injury.

b. Use personal protective equipment. Always wear eye protection. Protective equipment such as a dust
mask, non-skid safety shoes, hard hat, or hearing protection used for appropriate conditions will reduce
personal injuries.

c. Prevent unintentional starting. Ensure the switch is in the off-position before connecting to power
source and/or battery pack, picking up or carrying the tool. Carrying power tools with your finger on
the switch or plugging in tools when the switch is in the on-position invites accidents.

d. Remove any adjusting key or wrench before turning the power tool on. A wrench or a key left attached
to a rotating part of the power tool may result in personal injury.

e. Do not overreach. Keep proper footing and balance at all times. This enables better control of the power
tool in unexpected situations.

f. Dress properly. Do not wear loose clothing or jewellery. Keep your hair, clothing and gloves away
from moving parts. Loose clothes, jewellery or long hair can be caught in moving parts.

g. If devices are provided for the connection of dust extraction and collection facilities, ensure these
are connected and properly used. Use of dust collection can reduce dust-related hazards.

h. Do not let familiarity gained from frequent use of tools allow you to become complacent and ignore
tool safety principles. A careless action can cause severe injury within a fraction of a second.

4, Power tool use and care

a. Do not overload the power tool. Use the correct power tool for your application. The correct power
tool will do the job better and safer at the rate for which it was designed.

b. Do not use the power tool if the switch does not turn it on and off. Any power tool that cannot be
controlled with the switch is dangerous and must be repaired.

C. Disconnect the plug from the power source and/or the battery pack from the power tool before

making any adjustments, changing accessories, or storing power tools. Such preventive safety measures
reduce the risk of starting the power tool accidentally.

Mirka® LEROS(-S) & 950

59



en (original)

d. Store idle power tools out of the reach of children and do not anyone who is unfamiliar with the
power tool or these instructions to operate the power tool. Power tools are dangerous in the hands of
untrained users.

e. Maintain power tools. Check for misalignment or binding of moving parts, breakage of parts and
any other condition that may affect the power tool's operation. If damaged, have the power tool
repaired before use. Many accidents are caused by poorly maintained power tools.

f. Keep cutting tools sharp and clean. Properly maintained cutting tools with sharp cutting edges are less
likely to bind and are easier to control.
g. Use the power tool, accessories and tool bits etc. in accordance with these instructions, taking into

account the working conditions and the work to be performed. Use of the power tool for operations
different from those intended could result in a hazardous situation.

h. Keep handles and grasping surfaces dry, clean and free from oil and grease. Slippery handles and
grasping surfaces do not allow for safe handling and control of the tool in unexpected situations.
5. Service
a. Have your power tool serviced by a qualified repair person using only identical replacement parts.

This will ensure that the safety of the power tool is maintained.

A Additional Safety Warnings

The safety of the tool is granted only by using original Mirka backing pads.

Read the Materials Safety Data Sheet (MSDS) for the work surface.

If any physical hand/wrist discomfort is experienced, stop working and seek medical attention. Hand, wrist and arm
injury may result from repetitive work, motion and overexposure to vibrations.

Always refit the cover cap after installing the backing pad.

The power supply socket and connector are non-IEC appliance couplers. Only use an original Mirka power supply cable.
The Mirka power supply cable can be bought from your Mirka Dealer.

Check the tool, backing pad, power cord and fittings regularly for wear.

Clean or replace the dust extractor’s collection bag daily. Dust can be highly combustible. Cleaning or replacing the
bag also assures optimum performance.

If the tool appears to malfunction, stop using it immediately and arrange for service and repair.

Keep hands clear of the spinning accessory during use.

Do not allow the tool to free speed without taking precautions to protect surrounding people and objects in the event
that the abrasive or backing pad should come loose.

Do not use in wet conditions.

Technical data

LEROS 950CV -S 950CV
Power 350w 350w

Mains voltage 220-240 VAC 220240 VAC
Speed 4,000 —8,000 rpm 4,000-8,000 rppm
Orbit 5mm (3/16") 5mm (3/16")
Size of backing pad 0225mm (9") #225mm (9")
Weight 3.5kg (7.7 Ibs) 3.2kg (7.1 Ibs)

Degree of protection | |

Noise and vibration information

Measured values are determined according to EN 62841.

LEROS 950CV -S 950CV
Sound pressure level (L,) 73 dB(A) 73 dB(A)
Sound power level (Lyy,) 84dB(A) 84dB(A)
Sound measurement uncertainty K 3.0dB(A) 3.0dB(A)

60 Mirka® LEROS(-S) & 950



en (original)

LEROS 950CV -S950CV
Vibration emission value a,,” 25m/s? 25m/s?
Vibration emission uncertainty K* 1.5m/s? 1.5m/s?

Specifications subject to change without prior notice. Model range may vary between markets.

* The values stated in the table are derived from laboratory testing in conformity with stated codes and standards and
are not sufficient for risk evaluation. Values measured in a particular work place may be higher than the declared
values. The actual exposure values and amount of risk or harm experienced by an individual are unique to each
situation and depend upon the surrounding environment, the way the individual operates the machinery, the par-
ticular material being worked, work station design and the user's exposure time and physical condition. Mirka Ltd
accepts no responsibility for the consequences of using declared values instead of actual exposure values for any
individual risk assessment.

Further occupational health and safety information can be obtained from the following websites:

https://osha.europa.eu/en (Europe) or http://www.osha.gov (USA)

Proper use of tool

This sander is designed for sanding all types of materials, i.e. metals, wood, stone, plastics, etc. using abrasives designed
for this purpose. Do not use this sander for any other purpose than that specified without consulting the manufacturer
or the manufacturer’s authorized supplier. Do not use backing pads that have a working speed of less than 8,000 rpm
free speed. Only use original Mirka backing pads that are designed for optimal performance with the brake seal. Other
backing pads may reduce performance and will increase vibration. The cooling air vents on the housing must be kept
clean and free of blockages to ensure air circulation. Any maintenance or repair work requiring the motor housing to be
opened may only be carried out by an authorized service centre.

Work stations

The tool is intended to be operated as a hand-held tool. It is always recommended that the tool should be used when
standing on a solid floor. It can be in any position but before any such use, the operator must be in a secure position,
having a firm grip and footing and be aware that the tool can develop a torque reaction. See the section “Operating
instructions”.

How to get started

When unpacking the tool, make sure it is intact, complete and has not been damaged in transport. Never use a damaged
tool.

Before use, check that the backing pad is correctly attached and tightened. Connect the power cord to the tool. Connect
the power cord to a grounded outlet (220 -240 VAC, 50-60Hz).

In order to get the maximum power from this tool it is recommended to use it with the Mirka dust extractor (or other
suitable dust extraction unit) and Mirka net sanding products. The combination of Mirka sanders, Mirka net sanding
products and Mirka dust extractor are the basis of Mirka dust-free sanding solutions.

The power cord from the tool is connected to the mains supply of the dust extractor. By connecting the tool's power cord
to the outlet on the dust extractor it is possible to use the dust extractor’s autostart function.

Operating instructions

The tool is intended to be operated as a hand held tool. The tool can be used in any position. Note! The sander can
develop a torque reaction when started.

Make sure the sander is switched off. Select a suitable abrasive and secure it to the backing pad. Make sure the abrasive
is centred on the backing pad. For optimal performance we recommend a Mirka backing pad and Mirka Net Sanding
product.

Switching on, changing speed and stopping the sander are described in the "Multi-purpose LED indications (see Figure
2)" chapter.

The max rpm can be adjusted by pressing speed+ or speed-, Figure 2. The rpm can be adjusted in the range 4,000 to
8,000 rpm.

Mirka® LEROS(-S) & 950

61


https://osha.europa.eu/en
http://www.osha.gov

en (original)

« When sanding, always place the tool on the work surface before starting the tool. Always remove the tool from the
work surface before stopping it. This will prevent gouging of the work surface due to excess speed of the abrasive.
« Itis strongly recommended that the tool is used in combination with a Mirka Dust Extractor.

Multi-purpose LED indications (see Figure 2)

Indication Meaning

Multi-purpose LED shows green Power connected
Multi-purpose LED shows green Tool switched on. Speed indication active.
Multi-purpose LED flashes green/red Speed indication shows chosen speed.
Multi-purpose LED shows red Over temperature
Multi-purpose LED quick-flashes green / red Voltage out of range

Bluetooth

This tool is equipped with Bluetooth® low energy technology and can be connected to an app from which additional
tool functionality can be accessed. For more information on the app functionality and if it is available in your country, go
to www.mirka.com/mymirka

Activate Bluetooth on your Mirka® LEROS(-S) as follows:

1. Connect the power cord to mains outlet.

2. Press and hold the Speed+ button while switching the tool on with the On/Off button.

3. Communication status LED starts blinking blue, to indicate that Bluetooth is active. The LED turns solid when
connection is established.

4, Bluetooth is deactivated when the tool is disconnected from mains outlet.

NOTE! If the app is not installed or if it is not available in your country, Bluetooth shall not be activated.

The Bluetooth® word mark and logos are registered trademarks owned by the Bluetooth SIG, Inc. and any use of such
marks by Mirka Ltd is under license. Other trademarks and trade names are those of their respective owners.

Maintenance

Always disconnect the power before maintenance!
Only use original Mirka spare parts!

Replacing the backing pad and interface
Tools required: Hex socket 19 mm, Torx T8 screwdriver and flat head screwdriver.

Remove hole screws (8 pcs).

Remove the interface.

Remove the cover cap. Untighten the screw to remove the backing pad.

Remove the screw.

Remove the old pad.

Attach the new backing pad to the spindle (aligned correctly) and tighten the pad screw with the hex socket.
Attach the cover cap.

Fit a new interface.

Refit hole screws (8 pcs).

OWPNSOULHWN =

Replacing the brake seal
NOTE! Too much vacuum in your dust extraction system may cause the brake seal to malfunction.

62 Mirka® LEROS(-S) & 950



en (original)

Remove the backing pad as described above.
Pull the old brake seal out of its groove.

Fit the new brake seal in the groove.

Fit the backing pad as described above.

HwN =

A Further service

Servicing must always be performed by trained personnel. To keep the tool warranty valid and ensure optimal tool safety
and function, servicing must be carried out by a Mirka authorized service centre. To locate your local Mirka authorized
service centre, contact Mirka Customer Service or your Mirka dealer.

Troubleshooting guide

Symptom

The multi-purpose LED flashes
between red and green.

No light from multi-purpose LED
when switched on.

The multi-purpose LED is red and
the sander slows down to 4,000 rpm
when sanding.

The multi-purpose LED is red and
rpm is slightly reduced.

The sander has stopped and multi-
purpose LED is red.

Disposal information

DANGER

Possible cause

Connected to a mains outlet with
wrong voltage.

Power cord not properly attached to
the sander or to the mains socket.

Connected to a mains outlet with a
blown fuse.

Temperature too high in the sander.

Too heavy long term load.

Too heavy short term load.

The tool is in safety mode due to high
temperature.

Solution

Connect the sander to a mains outlet
that correspond with the nominal
voltage of the tool.

Connect it properly.

Check the main fuse in the power
supply.

Reduce the load on the sander for
some time and the sander will speed
up again.

Use lighter load and the LED (right)
will automatically change to green.

Wait until the tool has cooled down.

Render redundant power tools unusable by removing the power cord.

Observe applicable country-specific regulations regarding disposal and recycling of disused machines,
packaging and accessories.

EU only: Do not dispose electric power tools in house-hold waste. According to European Directives
on waste electrical and electronic equipment and its implementation under national law, electric
tools that have reached the end of their life must be collected separately and taken to an environ-

mentally compatible recycling facility.

For more information regarding REACH, RoHS and our corporate social responsibility visit

www.mirka.com

Mirka® LEROS(-S) & 950

63


https://www.mirka.com




Mirka Ltd
Finland

Brazil Mirka Brasil Ltda.

Belgium Mirka Belgium Logistics NV
Canada Mirka Canada Inc.

China Mirka Trading Shanghai Co,, Ltd
Finland & Baltics Mirka Ltd

France Mirka France Sarl

Germany Mirka GmbH

India Mirka India Pvt Ltd

[taly Mirka ltalia s.r.l, Cafro S.p.A.
Mexico Mirka Mexicana S.A. de C.V.
Russia Mirka Rus LLC

Singapore Mirka Asia Pacific Pte Ltd
Spain  Mirka Ibérica S.A.U.

Sweden Mirka Scandinavia AB

Turkey Mirka Turkey Zimpara Ltd Sirketi
United Kingdom Mirka (UK) Ltd

United Arab Emirates Mirka Middle East FZCO
USA  Mirka USA Inc.

For contact information,
please visit www.mirka.com

Dedicated to the finish

© Mirka Itd 197768/05-2022



	LEROS 230V - ar
	إﻗﺮار اﻟﻤﻄﺎﺑﻘﺔ
	ﻣﻬﻢ
	أدوات اﻟﺴﻼﻣﺔ اﻟﺸﺨﺼﻴﺔ اﻟﻤﻄﻠﻮﺑﺔ
	اﻟﺮﻣﻮز

	ﺗﺤﺬﻳﺮات اﻟﺴﻼﻣﺔ اﻟﻌﺎﻣﺔ ﺑﺸﺄن اﺳﺘﺨﺪام اﻟﻤﺎﻛﻴﻨﺔ اﻟﻜﻬﺮﺑﺎﺋﻴﺔ
	ﺗﺤﺬﻳﺮات اﻟﺴﻼﻣﺔ اﻹﺿﺎﻓﻴﺔ
	اﻟﺒﻴﺎﻧﺎت اﻟﻔﻨﻴﺔ
	ﻣﻌﻠﻮﻣﺎت اﻟﻀﺠﻴﺞ واﻻﻫﺘﺰاز
	اﻻﺳﺘﺨﺪام اﻟﻤﻨﺎﺳﺐ ﻟﻠﻤﺎﻛﻴﻨﺔ
	ﻣﻨﺼﺎت اﻟﻌﻤﻞ
	ﻛﻴﻔﻴﺔ اﻟﺘﺸﻐﻴﻞ
	إرﺷﺎدات اﻟﺘﺸﻐﻴﻞ
	ﻣﺆﺷﺮات LED ﻣﺘﻌﺪدة اﻷﻏﺮاض )اﻧﻈﺮ اﻟﺸﻜﻞ 2)
	Bluetooth
	اﻟﺼﻴﺎﻧﺔ
	اﺳﺘﺒﺪال ﺑﻄﺎﻧﺔ اﻟﺪﻋﻢ واﻟﻮاﺟﻬﺔ
	اﺳﺘﺒﺪال ﺳﺪادة اﻟﻜﺎﺑﺢ
	اﻟﻤﺰﻳﺪ ﻣﻦ اﻟﺼﻴﺎﻧﺔ
	دﻟﻴﻞ اﺳﺘﻜﺸﺎف اﻷﺧﻄﺎء وإﺻﻼﺣﻬﺎ
	ﻣﻌﻠﻮﻣﺎت اﻟﺘﺨﻠﺺ ﻣﻦ اﻟﻤﻨﺘﺞ

	bg - LEROS 230V
	Декларация за съответствие
	Важно
	Необходими лични предпазни средства
	Символи

	Общи предупреждения за безопасност за електрически инструменти
	Допълнителни предупреждения във връзка с безопасността
	Технически данни
	Информация относно шума и вибрациите
	Правилна работа с инструмента
	Работни станции
	Как да започнете
	Инструкции за експлоатация
	Индикации на многофункционални светодиоди (вижте Фигура 2)
	Bluetooth
	Техническо обслужване
	Смяна на опорната подложка и междинната подложка
	Смяна на уплътнението на спирачката
	Допълнително сервизно обслужване
	Ръководство за откриване на неизправности
	Информация за изхвърляне като отпадък

	cs - LEROS 230V
	Prohlášení o shodě
	Důležité
	Vyžadované osobní ochranné prostředky
	Symboly

	Obecná bezpečnostní upozornění pro elektrické nářadí
	Další bezpečnostní upozornění
	Technické údaje
	Informace o hluku a vibracích
	Správné používání nářadí
	Pracoviště
	Jak používat nářadí
	Návod k obsluze
	Víceúčelové kontrolky LED (viz obr. 2)
	Bluetooth
	Údržba
	Výměna podložky a vložky
	Výměna těsnění brzdy
	Další servis
	Průvodce odstraňováním závad
	Informace o likvidaci

	da - LEROS 230V
	Overensstemmelseserklæring
	Vigtigt
	Påkrævede personlige værnemidler
	Symboler

	Generelle sikkerhedsadvarsler for elværktøjer
	Yderligere sikkerhedsadvarsler
	Tekniske data
	Støj- og vibrationsoplysninger
	Korrekt brug af værktøjet
	Arbejdsstationer
	Sådan kommer du i gang
	Brugsanvisning
	Multifunktions-LED’ens indikationer (se figur 2)
	Bluetooth
	Vedligeholdelse
	Udskiftning af underlagspude og interface
	Udskiftning af den forseglede bremse
	Yderligere service
	Fejlfindingsguide
	Bortskaffelsesoplysninger

	de - LEROS 230V
	Konformitätserklärung
	Wichtig
	Erforderliche persönliche Schutzausrüstung
	Symbole

	Allgemeine Sicherheitshinweise für Elektrowerkzeuge
	Zusätzliche Sicherheitshinweise
	Produktkonfiguration/-spezifikationen
	Lautstärke und Vibrationen
	Bestimmungsgemäße Verwendung
	Arbeitsplatz
	Inbetriebnahme des Werkzeugs
	Anwendungshinweise
	Multifunktions-LED (siehe Abb. 2)
	Bluetooth
	Wartung
	Austauschen von Schleifteller und Auflage
	Austauschen der Tellerbremse
	Weitergehender Service
	Fehlerbehebung
	Information zur Entsorgung

	el - LEROS 230V
	Δήλωση συμμόρφωσης
	Σημαντικό
	Απαιτούμενος εξοπλισμός ατομικής ασφάλειας
	Σύμβολα

	Γενικές προειδοποιήσεις ασφαλείας για ηλεκτρικά εργαλεία
	Πρόσθετες προειδοποιήσεις ασφαλείας
	Τεχνικά στοιχεία
	Πληροφορίες θορύβου και δονήσεων
	Σωστή χρήση του εργαλείου
	Σταθμοί εργασίας
	Τα πρώτα βήματα
	Οδηγίες χρήσης
	Ενδείξεις λυχνιών LED πολλαπλών χρήσεων (βλ. Σχήμα 2)
	Bluetooth
	Συντήρηση
	Αντικατάσταση του πέλματος και του συνδετικού
	Αντικατάσταση του στεγανοποιητικού δίσκου
	Περαιτέρω σέρβις
	Οδηγός αντιμετώπισης προβλημάτων
	Πληροφορίες για την απόρριψη

	en - LEROS 230V
	Declaration of conformity
	Important
	Required personal safety equipment
	Symbols

	General Power Tool Safety Warnings
	Additional Safety Warnings
	Technical data
	Noise and vibration information
	Proper use of tool
	Work stations
	How to get started
	Operating instructions
	Multi-purpose LED indications (see Figure 2)
	Bluetooth
	Maintenance
	Replacing the backing pad and interface
	Replacing the brake seal
	Further service
	Troubleshooting guide
	Disposal information

	es - LEROS 230V
	Declaración de conformidad
	Importante
	Equipo de Seguridad Personal Necesario
	Símbolos

	Advertencias generales de seguridad sobre herramientas eléctricas
	Advertencias de seguridad adicionales
	Datos técnicos
	Información sobre ruido y vibración
	Uso correcto de la herramienta
	Superficies de trabajo
	Cómo arrancar
	Instrucciones de manejo
	Indicaciones del led multifunción (ver figura 2)
	Bluetooth
	Mantenimiento
	Cambio del plato de soporte y la interfaz
	Cambio del sello de freno
	Servicio adicional
	Guía de solución de problemas
	Información sobre gestión de residuos

	et - LEROS 230V
	Vastavusdeklaratsioon
	NB!
	Kohustuslikud isikukaitsevahendid
	Sümbolid

	Elektritööriista üldised ohutushoiatused
	Täiendavad ohutusnõuded
	Tehnilised andmed
	Müra- ja vibratsiooniteave
	Tööriista nõuetekohane kasutamine
	Tööjaamad
	Alustamine
	Kasutusjuhised
	Mitmeotstarbelise LED-tule näidud (vt joonist 2)
	Bluetooth
	Hooldus
	Lihvtalla ja vahetalla vahetamine
	Pidurdustihendi vahetamine
	Täiendav teenindus
	Tõrkeotsing
	Teave utiliseerimise kohta

	fi - LEROS 230V
	Vaatimustenmukaisuusvakuutus
	Tärkeää
	Vaadittavat henkilönsuojaimet
	Merkinnät

	Koneen yleiset turvallisuusvaroitukset
	Muut turvallisuusvaroitukset
	Tekniset tiedot
	Melu- ja tärinätiedot
	Koneen oikea käyttö
	Työasennot
	Käytön aloittaminen
	Käyttöohjeet
	Merkkivalon osoitukset (katso kuva 2)
	Bluetooth
	Kunnossapito
	Alustallan ja välilaipan vaihto
	Jarrutiivisteen vaihto
	Muu huolto
	Vianetsintäohjeet
	Käytöstä poistaminen

	fr - LEROS 230V
	Déclaration de conformité
	Important
	Équipement de protection individuelle requis
	Symboles

	Consignes de sécurité générales concernant les outils électriques
	Consignes de sécurité supplémentaires
	Caractéristiques techniques
	Données relatives au bruit et aux vibrations
	Utilisation prévue
	Postes de travail
	Pour commencer
	Instructions d’utilisation
	Indications des LED multifonctions (voir Figure 2)
	Bluetooth
	Maintenance
	Remplacement du plateau et de l’interface
	Remplacement du frein de plateau
	Autres opérations d’entretien
	Guide de dépannage
	Mise au rebut

	hr - LEROS 230V
	Izjava o sukladnosti
	Važno
	Potrebna osobna zaštitna oprema
	Simboli

	Opća sigurnosna upozorenja za električne alate
	Dodatna sigurnosna upozorenja
	Tehnički podaci
	Informacije o buci i vibracijama
	Pravilna upotreba alata
	Radne stanice
	Kretanje s radom
	Upute za rad
	Višenamjenske LED indikacije (vidjeti sliku 2)
	Bluetooth
	Održavanje
	Zamjena podložne ploče i sučelja
	Zamjena osovine kočnice
	Daljnji servis
	Vodič za rješavanje problema
	Informacije o odlaganju

	hu - LEROS 230V
	Megfelelőségi nyilatkozat
	Fontos
	Szükséges munkavédelmi felszerelések
	Szimbólumok

	Szerszámgépekre vonatkozó általános munkavédelmi szabályzat
	További munkavédelmi szabályok
	Műszaki adatok
	Zaj- és vibrációadatok
	A gép helyes használata
	Munkaállomások
	Első lépések
	Kezelői útmutató
	A többfunkciós LED jelzései (lásd: 2. ábra.)
	Bluetooth
	Karbantartás
	Az alátétlap és az illeszték cseréje
	A féktömítés cseréje
	További javítás
	Hibakeresési útmutató
	Hulladékba helyezési szabályok

	it - LEROS 230V
	Dichiarazione di conformità
	Importante
	Dispositivi di protezione individuale richiesti
	Simboli

	Norme di sicurezza generali per gli utensili elettrici
	Ulteriori avvertenze per la sicurezza
	Dati tecnici
	Informazioni su rumore e vibrazioni
	Uso corretto dell‘utensile
	Postazioni di lavoro
	Messa in funzione
	Istruzioni per l‘uso
	Indicazioni del LED multifunzione (vedere Figura 2)
	Bluetooth
	Manutenzione
	Sostituzione di platorello e interfaccia
	Sostituzione della guarnizione frena-platorello
	Ulteriore assistenza
	Guida alla Ricerca dei Guasti
	Informazioni per lo smaltimento

	ko - LEROS 230V
	적합성 선언문
	중요 사항
	필수 개인 안전 장비
	기호

	일반 전동 공구 안전 경고
	추가 안전 관련 주의 사항
	기술 자료
	소음 및 진동 정보
	올바른 공구사용법
	워크스테이션
	시동거는 방법
	사용 지침
	다용도 LED 표시(그림 2 참조)
	Bluetooth
	유지관리
	백킹 패드와 인터페이스 교체
	브레이크 씰 교체
	추가 서비스
	문제 해결 가이드
	폐기 정보

	lt - LEROS 230V
	Atitikties deklaracija
	Svarbi informacija
	Reikalinga asmens saugos įranga
	Simboliai

	Bendrieji perspėjimai dėl elektros įrankių saugos
	Papildomi įspėjimai dėl saugos
	Techniniai duomenys
	Informacija apie triukšmą ir vibraciją
	Tinkamas Įrankio naudojimas
	Darbo vietos
	Darbo pradžia
	Naudojimo instrukcijos
	Universalaus šviesos diodo reikšmės (žr. 2 pav.)
	Bluetooth
	techninė priežiūra
	Pagrindo disko ir sąsajos keitimas
	Stabdžio sandariklio keitimas
	Tolesnė techninę priežiūra
	Trikčių šalinimo vadovas
	Utilizavimo informacija

	lv - LEROS 230V
	Atbilstības deklarācija,
	Svarīgi paziņojumi
	Nepieciešamie individuālie aizsardzības līdzekļi
	Apzīmējumi

	Vispārīgi elektroinstrumenta drošības brīdinājumi
	Papildu drošības brīdinājumi
	Tehniskie dati
	Informācija par troksni un vibrāciju
	Norādījumi par darbarīka pareizu lietošanu
	Norādījumi par darbavietām
	Norādījumi par darba sākšanu
	Lietošanas norādījumi
	Daudzfunkcionālo gaismas diožu indikators (sk. 2. att.)
	Bluetooth
	Norādījumi par apkopi
	Pamatnes paliktņa un darba virsmas nomaiņa
	Norādījumi par bremžu blīves maiņu
	Norādījumi par papildu remontu
	Problēmu novēršanas pamācība
	Informācija par darbarīka utilizāciju

	mk - LEROS 230V
	Изјава за усогласеност
	Важно
	Потребна опрема за лична безбедност
	Симболи

	Општи безбедносни предупредувања за електрични алати
	Дополнителни безбедносни предупредувања
	Технички податоци
	Информации за буката и вибрациите
	Правилна употреба на алатот
	Работни станици
	Како да започнете
	Упатства за ракување
	Повеќенаменски LED индикации (видете Слика 2)
	Bluetooth
	Одржување
	Замена на потпорната подлога и подметката
	Замена на заптивката на кочницата
	Понатамошно сервисирање
	Водич за решавање проблеми
	Информации за исфрлање како отпад

	nl - LEROS 230V
	Conformiteitsverklaring
	Belangrijk
	Vereiste persoonlijke veiligheidsuitrusting
	Symbolen

	Algemene veiligheidswaarschuwingen elektrisch gereedschap
	Aanvullende veiligheidswaarschuwingen
	Technische gegevens
	Informatie geluidsniveau/trilling
	Correct gebruik van het apparaat
	Werkplaats
	Aan de slag
	Gebruiksaanwijzing
	Indicaties multifunctionele LED (zie figuur 2)
	Bluetooth
	Onderhoud
	Steunschijf en interface vervangen
	Remafdichting vervangen
	Overig onderhoud
	Problemen oplossen
	Informatie over verwijdering

	no - LEROS 230V
	Samsvarserklæring
	forvarsel.
	Påkrevd personlig verneutstyr
	Symboler

	Generelle sikkerhetsregler for elektroverktøy
	Ytterligere sikkerhetsregler
	Tekniske data
	Informasjon om støy og vibrasjon
	Korrekt bruk av verktøyet
	Arbeidsstasjoner
	Komme i gang
	Betjeningsanvisninger
	Flerfunksjonslysdiodeindikator (se figur 2)
	Bluetooth
	Vedlikehold
	Skifte underlagsskive og mellomskive
	Skifte ut bremseskiven
	Ytterligere service
	Feilsøkingsguide
	Informasjon om kassering

	pl - LEROS 230V
	Deklaracja zgodności
	Ważne!
	Wymagane środki ochrony osobistej
	Symbole

	Ostrzeżenia dot. Bezpiecznej Obsługi Elektronarzędzi
	Dodatkowe Informacje dot. Bezpieczeństwa
	Dane techniczne
	Informacje dot. hałasu i drgań
	Właściwe użytkowanie narzędzia
	Stanowiska robocze
	Rozpoczęcie pracy
	Instrukcja obsługi
	Wielofunkcyjne diody LED (patrz Rysunek 2)
	Bluetooth
	Konserwacja
	Wymiana talerza oporowego i nakładki
	Wymiana uszczelki
	Inne czynności serwisowe
	Instrukcja naprawy
	Utylizacja urzędzenia

	pt - LEROS 230V
	Declaração de conformidade
	Importante
	Equipamento de segurança individual exigido
	Símbolos

	Avisos gerais sobre a segurança de ferramentas elétricas
	Avisos adicionais de segurança
	Dados técnicos
	Informações sobre ruído e vibração
	Uso adequado da ferramenta
	Estações de trabalho
	Como começar
	Instruções de operação
	Indicações LED multifunções (ver figura 2)
	Bluetooth
	Manutenção
	Substituir a almofada de encosto e interface
	Substituição da vedação do freio
	Manutenção adicional
	Guia de solução de problemas
	Informações sobre o descarte

	ro - LEROS 230V
	Declaraţie de conformitate
	Important
	Echipament de protecţie personală obligatoriu
	Simboluri

	Avertismente generale privind siguranța sculelor electrice
	Avertismente de siguranță suplimentare
	Date tehnice
	Informaţii despre zgomot şi vibraţii
	Utilizarea corespunzătoare a sculei
	Staţii de lucru
	Instrucțiuni pentru prima utilizare
	Instrucţiuni de operare
	Indicatoare LED multifuncționale (consultați Figura 2)
	Bluetooth
	Întreţinerea
	Înlocuirea discului de sprijin și suprafeței de contact
	Înlocuirea garniturii de frână
	Alte reparaţii
	Ghid de depanare
	Informaţii despre eliminare

	ru - LEROS 230V
	Декларация соответствия
	Важно!
	Необходимые средства индивидуальной защиты
	Обозначения

	Общие правила техники безопасности при работе с механизированным инструментом
	Дополнительные правила техники безопасности
	Технические характеристики
	Уровни шума и вибрации
	Назначение и основные сведения
	Рабочее место
	Начало работы
	Эксплуатация
	Многофункциональный светодиодный индикатор (см. рис. 2)
	Bluetooth
	Техническое обслуживание
	Замена подошвы и мягкой прокладки
	Замена уплотнения тормоза
	Прочее техническое обслуживание
	Устранение неисправностей
	Утилизация

	sl - LEROS 230V
	Izjava o skladnosti
	Pomembno
	Obvezna osebna varnostna oprema
	Simboli

	Splošna varnostna opozorila za električno orodje
	Dodatna varnostna opozorila
	Tehnični podatki
	Podatki o hrup in tresljajih
	Pravilna uporaba orodja
	Delovne postaje
	Kako začeti z uporabo
	Navodila za uporabo
	Prikazi večnamenskega LED-indikatorja (glejte sliko 2)
	Bluetooth
	Vzdrževanje
	Zamenjava podložne blazinice in vmesnika
	Zamenjava zavornega tesnila
	Dodatni servis
	Navodila za odpravljanje težav
	Podatki o odlaganju

	sr - LEROS 230V
	Izjava o usklađenosti
	Važno
	Neophodna lična zaštitna oprema
	Simboli

	Opšta sigurnosna upozorenja u vezi sa električnim alatom
	Dodatna bezbednosna upozorenja
	Tehnički podaci
	Informacije o buci i vibracijama
	Pravilna upotreba alatke
	Radne stanice
	Kako početi?
	Uputstva za rad
	Višenamenske LED indikacije (videti sliku 2)
	Bluetooth
	Održavanje
	Zamena potporne podloge i umetka
	Zamena zaptivke kočnice
	Dodatno servisiranje
	Vodič za otklanjanje problema
	Informacije o odlaganju

	sv - LEROS 230V
	Försäkran om överensstämmelse
	Viktigt
	Erforderlig personlig skyddsutrustning
	Symboler

	Allmänna säkerhetsregler för elverktyg
	Extra säkerhetsföreskrifter
	Tekniska data
	Buller och vibrationer
	Rätt användning av verktyget
	Arbetsstationer
	Börja använda verktyget
	Bruksanvisning
	Indikeringar för flerfunktionell LED-lampa (se figur 2)
	Bluetooth
	Underhåll
	Byte av underlagsplatta och interface
	Byte av bromstätning
	Ytterligare service
	Felsökningsguide
	Återvinning

	tr - LEROS 230V
	Uygunluk Beyanı
	Önemli
	Gerekli Kişisel Koruyucu Donanım
	Semboller

	Genel Elektriki Alet Güvenlik Uyarıları
	Ek Güvenlik Uyarıları
	Teknik veriler
	Gürültü ve titreşim bilgileri
	Aletin doğru kullanımı
	İş istasyonları
	Başlatma
	İşletim talimatları
	Çok amaçlı LED göstergeleri (bkz. Şekil 2)
	Bluetooth
	Bakım
	Destek pedini ve arayüzü değiştirme
	Fren keçesini değiştirme
	Diğer servis işlemleri
	Sorun giderme kılavuzu
	İmha bilgileri

	uk - LEROS 230V
	Декларація відповідності
	Важливо
	Необхідні засоби індивідуального захисту
	Символи

	Загальні правила техніки безпеки при використанні механізованого інструмента
	Додаткові застереження
	Технічні характеристики
	Інформація про шум та вібрацію
	Належне використання інструмента
	Робочі місця
	Початок роботи
	Інструкція з експлуатації
	Багатоцільові світлодіодні індикатори (рис. 2)
	Bluetooth
	Технічне обслуговування
	Заміна підошви й м’якої прокладки
	Заміна гальмівного ущільнювача
	Додаткове обслуговування
	Керівництво з пошуку та усунення несправностей
	Утилізація

	zh - LEROS 230V
	符合性声明
	重要注意事项
	所需的人员安全设备
	符号

	电动工具通用安全注意事项
	其他安全警告
	技术数据
	噪音和振动信息
	正确使用工具
	工作站
	入门指南
	操作说明
	多功能 LED 指示灯（见图 2）
	Bluetooth
	维护
	更换支撑垫和软垫
	更换制动密封
	其他服务
	故障排除指南
	处置信息

	pt | br - LEROS 230V
	Declaração de conformidade
	Importante
	Equipamento de proteção individual exigido
	Símbolos

	Avisos gerais sobre a segurança de ferramentas elétricas
	Avisos adicionais de segurança
	Dados técnicos
	Informações sobre ruído e vibração
	Uso adequado da ferramenta
	Estações de trabalho
	Como começar
	Instruções de operação
	Indicações LED multifunções (ver figura 2)
	Bluetooth
	Manutenção
	Substituir a almofada de encosto e interface
	Substituição da vedação do freio
	Manutenção adicional
	Guia de solução de problemas
	Informações sobre o descarte




